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Huan has saved his pocket money for 5 weeks.

He gets the same pocket money every week.

He has saved £16.65

How much pocket money does Huan get each week?

£3.33

Modelling clay is sold in two different shops. P
Shop A sells four pots of clay for £7.68 @
Shop B sells three pots of clay for £5.79 -

Which shop has the better deal?
Explain your answer.

A = £1.92 per pot B = £1.93 per pot
So, A is the better deal as the clay pot is 1p cheaper.

ﬁ Tom is running a 6-kilometre race.

'7/ He has run one-third of the race so far.

o

» How many more kilometres does Tom have left to run?

6 -+ 3 =2 Tom has ran 2km so far which mean he has 4km left.




1.3+5=0.26
126 +3=42
428 ~ 4 =107

They are both
correct.

Rosie has divided
her remainder of 3
by 4 to get 0.75
whereas Jack has
recorded his as a
remainder.




Complete the calculations:

a) 61.6g + 4 = 154g

b) £28.60 + 2 = £14.30

) £6 05 +5=£121

d) 7.2kg + 3 = 2.4kg

A cake needs 4 eqgqgs.

How many cakes can be made from 345 eggs?

86.25 or 86 r 1 so you can make 86 cakes

Huan has saved his pocket money for 5 weeks.
He gets the same pocket money every week.

He has saved £16.65

How much pocket money does Huan get each week?

£3.33




